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PN - EHRTRR, MRELER, WELE HRETRR, MRELER, WELE =
[ kJ/100g 1786-2535 1985 Bi&
o=l % 14.1-24.0 15.4 Bi&
HERR % 16.16-28.09 19.9 Bi&
iz % >1.76 3.006 &
IsEaw=ary %A <3 0.18 &
HEER A gRE/100g 384-1083 577 &
4R D 1g/100g 5.02-15.05 9.21 &
HEERE mg a-TE/100g >5.2 6.86 &
(AR K 1g/100g 221 58.2 &
HEtE B 11g/100g 2384 566 &
4 B2 11g/100g 2640 1610 &
“#EE R B6 ug/100g >336 555 B
“EEER B12 ug/100g >0.88 1.0 B
(RER 1g/100g 22880 5050 &
IR ug/100g 264 117 =
E2iA 1g/100g 22240 4146.0 &
HEER C mg/100g 264 100.0 &
EZES 1g/100g 214.0 200 &
# mg/100g 167-401 215 &
b mg/100g 692-1384 879 &
ki 1g/100g 240-702 259 &
23 mg/100g 236.8 489 =
% mg/100g 5.02-10.03 5.87 =
=3 mg/100g 3.9-6.0 4.69 &
5 mg/100g 2552 692 =
ks mg/100g 2336 495 =
FELLIE - 1.2:1-2:1 1.40:1 =
il 1g/100g 248 90 =
£ mg/100g 306-1043 427 =
it 1g/100g 10.40-38.13 16.1 =
e mg/100g 28.80-60.20 399 =
RN % fERBER 0.08-0.50 0.15 &
RIS % fERBER 0.08-1.00 0.17 &
ViSax % <5.0 2.62 B
x5 % <5.0 40 =
RnE mg/kg <12 8 B

2] mg/kg <0.15 <0.050 &
LSl mg/kg <100 6.1 B
RIGTE mg/kg <« <15 &
5 mg/kg <50 <0.030 &
EHBEEEM Hg/kg 0.5 <0.05 &
EHUSTEIBB12 CFU/g >1x10° 10000000 =
&S #(n=5,c=2) CFU/g m=1000,M=10 000 45,20,10,40,20 =
KIFERE(N=5,c=2) CFU/g m=10,M=100 <10,<10,<10,<10,<10 &
Y1 JEEE(n=5,c=0) /25g stat E3on] &
=BeER mg/kg <10 <0.01 &
eaE g 2400 400.24 &
|4&ie: K ESISIRAE S RNITIRE GB10767 f1GB13432/9ER.
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